
 

  

NOVEMBER 2021 60557/CYA6A 

Time : Three hours Maximum : 75 marks 

PART A — (10  2 = 20 marks) 

Answer any TEN questions. 

1. What do you mean by term ‘Cost’? 

 AhUPÂø» GÝ® ö\õÀ £ØÔ }Âº AÔÁx GßÚ? 

2. What is Works cost? 

 ÷Áø» ö\»Ä GßÓõÀ GßÚ? 

3. Calculate Economic Order Quantity from the following 

information : 

 Annual usage  – 600 units 

 Cost of placing an order – Rs.12 

 Price of Material per unit – Rs.20 

 Cost of storage  – 20% 

 ¤ßÁ¸® uPÁÀPÎhª¸¢x ö£õ¸Íõuõμ JÊ[S AÍøÁ 

PnUQkP : 

 Á¸hõ¢uμ £¯ß£õk – 600 A»SPÒ 

 J¸ ö£õ¸øÍ øÁ¨£uØPõÚ ö\»Ä – ¹.12 

 ³Ûm JßÖUS ö£õ¸Ò Âø» – ¹.20 

 ÷\ª¨¦ ö\»Ä  – 20% 

4. What do you understand by bin card? 

 öPõÒP» Amøh £ØÔ }Âº AÔÁx GßÚ? 

5. What is Labour turnover? 

 öuõÈ»õÍº _ÇØ] GßÓõÀ GßÚ? 
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6. Calculate the net wages payable to a worker from the following 
details : 

 Basic wages per month – Rs.1,100 

 Dearness Allowance – 30% of basic wages 

 Employee contribution to P.F. – 10% of basic wages 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x J¸ öuõÈ»õÎUS ö\¾zu ÷Ási¯ 

{Pμ Fv¯zøu PnUQk[PÒ : 

 J¸ ©õuzvØS Ai¨£øh \®£Í® – ¹.1,100 

 APÂø»¨£i  – Ai¨£øh Fv¯zvÀ 30%  

 P.F.US £o¯õÍº £[PÎ¨¦ – Ai¨£øh Fv¯zvÀ 10%  

7. Compute overhead rate based on direct materials : 

 Factory overhead : Rs.1,25,600 

 Direct materials  : Rs.3,80,000 

 ÷|μi ö£õ¸mPÎß Ai¨£øh°À ÷©Øö\»ÄPÒ Ãuzøu 

PnUQkP. 

 öuõÈØ\õø» ÷©Øö\»ÄPÒ : ¹.1,25,600 

 ÷|μi ö£õ¸mPÒ  : ¹.3,80,000 

8. What is meant by machine hour rate? 

 C¯¢vμ ÷|μ ÂQu® GßÓõÀ GßÚ? 

9. What is Operation costing? 

 ö\¯À AhUPÂø»°¯À GßÓõÀ GßÚ? 

10. Find the works cost of Job No.108 from the details given below : 

 Materials   Rs.22,600 

 Labour   Rs.9,700 

 Factory expenses Rs.4,400 

 R÷Ç öPõkUP¨£mkÒÍ Â£μ[PÎ¼¸¢x ÷Áø» Gs 108 ß 

÷Áø» ö\»øÁU PshÔ¯Ä® : 

 ö£õ¸mPÒ   ¹.22,600 

 öuõÈ»õÍº  ¹.9,700 

 öuõÈØ\õø» ö\»ÄPÒ ¹.4,400 

11. What is Idle Time? 

 ÃnõS® ÷|μ® GßÓõÀ GßÚ? 

12. What do you understand by abnormal loss? 

 A\õuõμn CÇ¨¦ £ØÔ }Âº AÔ¢ux GßÚ? 
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PART B — (5  5 = 25 marks) 

Answer any FIVE questions. 

13. What are the functions of Cost accounting? 

 AhUPÂø» PnUQ¯¼ß £oPÒ ¯õøÁ? 

14. The purchases and issues of material ‘X’ in the month of 

January, were as follows : 

 January 

 3 Purchase 800 units @ Rs.20 per unit 

 8 Purchase 700 units @ Rs.18 per unit 

 9 Issue 600 units 

 11 Issue 800 units 

 17 Purchase 800 units @ Rs.20 per unit 

 25 Purchase 500 units @ Rs.25 per unit 

 31 Issue 1000 units 

 The standard price per unit of material is Rs.20 fixed for the 

year. Show the Stores Ledger entries and determine the price 

variance for the month of January. 

 áÚÁ› ©õuzvÀ ‘X’ Gß£Áº ö\´u öPõÒ•uÀ ©ØÖ® öÁÎ±k 

¤ßÁ¸©õÖ : 

 áÚÁ› 

 3 ³Ûm JßÖUS ¹.20 GÚ 800 A»SPÒ öPõÒ•uÀ  

  ö\´¯¨£mhx 

 8 ³Ûm JßÖUS ¹.18 GÚ 700 A»SPÒ öPõÒ•uÀ  

  ö\´¯¨£mhx 

 9 öÁÎ±k 600 A»SPÒ 

 11 öÁÎ±k 800 A»SPÒ 

 17 ³Ûm JßÖUS ¹.20 GÚ 800 A»SPÒ öPõÒ•uÀ  

  ö\´¯¨£mhx 
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 25 ³Ûm JßÖUS ¹.25 GÚ 500 A»SPÒ öPõÒ•uÀ  

  ö\´¯¨£mhx 

 31 öÁÎ±k 1000 A»SPÒ 

 ‰»¨ö£õ¸ÐUPõÚ {ø»¯õÚ Âø» J¸ A»S ¹.20 GÚ 

{ºn°UP¨£mhx. £sh[PÒ ÷£÷μmk £vÄPÒ u¢x ©ØÖ® áÚÁ› 

©õuzvØPõÚ Âø» ©õÖ£õmøh wº©õÛUPÄ®.  

15. Standard time allowed for a job is 50 hours. The hourly rate of 
wages is Rs.10 per hour plus a dearness allowance of Rs.5 per 
hour worked. 

 The actual time taken by the worker was 40 hours. Calculate 
total wages on : 

 (a) Time basis 

 (b) Piece basis 

 (c) Halsey plan and 

 (d) Rowan’s plan. 

 ÷Áø»US AÝ©vUP¨£k® {ø»¯õÚ ÷|μ® 50 ©o ÷|μ® BS®. 

J¸ ©o ÷|μzvØS T¼ ¹.10 Ehß J¸ ©o÷|μ® ÷Áø» ö\´uõÀ 

APÂø»£i¯õP ¹.5 ÁÇ[P¨£mhx. 

 öuõÈ»õÎ GkzxUöPõsh Esø©¯õÚ ÷|μ® 40 ©o ÷|μ® 

BS®. RÌUPõq® •øÓPÎÀ ö©õzu Fv¯[PøÍ PnUQk[PÒ 

 (A) Põ» Ai¨£øh°À 

 (B) E¸¨£i Ai¨£øh°À 

 (C) íõÀ÷\ vmh® ©ØÖ® 

 (D) ÷μõÁ¼ß vmh®. 

16. An analysis of the time card of a worker on a machine shows 
that of the total 85 hours, he worked 80 hours (including 4 hours 
overtime) on production and that 5 hours was idle time due to 
machine breakdown. 

 The rate of worker is Re.0.50 per hour ; but overtime is paid at 
100% extra. 

 You are required to allocate the total wages paid to the worker 
between ‘Direct’ and ‘Indirect’ labours. 
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 C¯¢vμzvß J¸ £o¯õÍ›ß Põ» Amøh°ß £S¨£õ´Ä ö©õzu 

85 ©o ÷|μ[PÎÀ, 80 ©o÷|μ® (4 ©o÷|μ ÷©»vP ÷|μ[PøÍ 

EÒÍhUQ¯x) EØ£zv ©ØÖ® 5 ©o ÷|μ C¯¢vμ® •ÔÄ 

Põμn©õP ÷|μzøu ö\»ÁÈzux. 

 öuõÈ»õÎ ÂQu® J¸ ©o ÷|μzvØS ¹.0.50 BS®. BÚõÀ 

÷©»vP ÷|μzvØS 100% Tku»õP ö\¾zu¨£kQÓx. 

 ‘÷|μi’ ©ØÖ® ‘©øÓ•P’ EøÇ¨¦PÐUQøh°À öuõÈ»õÎUS 

ÁÇ[P¨£k® ö©õzu Fv¯zøu }[PÒ JxUP ÷Ásk®. 

17. Calculate the machine hour rate from the following details : 

 (a) Cost of machinery Rs.45,000 

 (b) Installation charges Rs.5,000 

 (c) Life of machine 5 years 

 (d) Working hours per year 2,500 

 (e) Repair charges 75% of depreciation 

 (f) Electric power consumed : 10 units per hour @ 15 paise   

      per unit  

 (g) Lubricant oil : Rs.4 per day of 8 hours 

 (h) Consumable stores@ Rs.10 per day of 8 hours 

 (i) Wages of machine operator @ Rs.8 per day of 8 hours. 

 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x C¯¢vμ ©o ÷|μ ÂQuzøu PnUQkP : 

 (A) C¯¢vμ[PÒ Âø» ¹.45,000 

 (B) ö£õ¸zxuÀ Pmhn[PÒ ¹.5,000 

 (C) C¯¢vμzvß B²mPõ»® 5 BskPÒ 

 (D) ÷Áø» ÷|μ® J¸ Á¸hzvØS  2,500 

 (E) \›£õº¨¦ Pmhn® ÷u´©õÚzvÀ 75% 
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 (F) ªß\õμ \Uv ~Pμ¨£k® J¸ ©o ÷|μzvØS 10 A»SPÒ   

  @ 15 ø£\õ J¸ A»SUS 

 (G) ©\S Gsön´ 8 ©o ÷|μ® EÒÍ |õÒ JßÖUS ¹.4 

 (H) ~Pº÷Áõº £sh[PÒ 8 ©o ÷|μ® EÒÍ |õÒ JßÖUS ¹.10 

 (I) C¯¢vμ B£÷μmhº Fv¯[PÒ 8 ©o ÷|μ® EÒÍ |õÒ 

JßÖUS ¹.8 

18. Mr. Ramu runs a tempo service in the city. He furnishes you 
with the following data and wants you to compute the cost per 
running km. 

 Rs. 

Cost of vehicle 25,000

Road licence fee per annum 750

Supervisor’s salary per annum 1,800

Driver’s wage per hour 4

Cost fuel per litre 6.50

Repairs and maintenance per km 1.50

Tyre allocation per km. 2.00

Garage rent per annum 3,200

Annual insurance premium 1,200

 Km. run per litre – 6 

 Km. run during the year – 12,000 

 Estimated life of vehicle in km. – 1,00,000 

 The vehicle runs 20 km per hour on an average. 

 v¸. μõ• |P›À J¸ öh®÷£õ ÷\øÁ |hzxQÓõº AÁº ¤ßÁ¸® 

uμøÁ E[PÐUS AÎ¨£õº ©ØÖ® Q.«. KmhzvØPõÚ ö\»Ä 

PnUQh Â¸®¦QÓõº. 

 ¹. 

ÁõPÚzvß ö\»Ä 25,000

Á¸hzvØPõÚ \õø» E›© Pmhn® 750

Á¸hzvØPõÚ ÷©Ø£õºøÁ¯õÍ›ß \®£Í® 1,800

Kmk|º Fv¯® J¸ ©o ÷|μzvØS 4
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G›ö£õ¸Ò Âø» ¼mhº JßÖUS 6.50

£Êx£õº¨¦ ©ØÖ® £μõ©›¨¦ Q.«. JßÖUS 1.50

h¯º JxURk J¸ Q.«.US 2.00

÷P÷μä ÁõhøP BskUS 3,200

Bsk Põ¨¥mk ¤Ÿª¯® 1,200

 ¼mh® JßÖUS ö\À¾® Q.«. – 6 

 BsiÀ PhUS® Q.«. – 12,000 Q.«. 

 Gvº£õºUS® ÁõPÚzvß B²mPõ»® – 1,00,000 Q.«. 

 ÁõPÚ® \μõ\›¯õP J¸ ©o ÷|μzvØS 20 Q.«. ö\À¾®. 

19. What are the features of Job costing? 

 £o AhUPÂø»°¯¼ß ]Ó¨¤¯À¦PÒ ¯õøÁ? 

PART C — (3  10 = 30 marks) 

Answer any THREE questions. 

20. From the following particulars, prepare a statement showing the 
components of the total sales and the profit for the year ended 
31st December. 

          Rs. 

Stock of finished goods (1st January) 6,000 

Stock of raw materials (1st January) 40,000 

Work in progress (1st January) 15,000 

Purchases 4,75,000 

Carriage inwards 12,500 

Factory rent, taxes 7,250 

Other production expenses 43,000 

Stock of goods (31st December) 15,000 

Wages 1,75,000 

Work Manager salary 30,000 

Factory employees salary 60,000 

Power expenses 9,500 

General expenses  32,500 

Sales for the year 8,60,000 

Stock of Raw materials 50,000 

Work in progress (31st December) 10,000 
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 ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, 31 i\®£º •iÁøh¢u BskUPõÚ 

ö©õzu ÂØ£øÚ ©ØÖ® C»õ£zvß £õP[PøÍU Põmk® J¸ 

AÔUøPø¯ u¯õº ö\´¯Ä® 

       ¹. 

•iUP¨£mh ö£õ¸mPÎß C¸¨¦ (1 
áÚÁ›) 

6,000 

‰»¨ö£õ¸mPÎß C¸¨¦ (1 áÚÁ›) 40,000 

•iÄÓõ ÷Áø» (1 áÚÁ›) 15,000 

öPõÒ•uÀ 4,75,000 

EÒ yUS 12,500 

öuõÈØ\õø» ÁõhøP, Á› 7,250 

©ØÓ EØ£zv ö\»ÄPÒ 43,000 

ö£õ¸mPÎß C¸¨¦ (31 i\®£º) 15,000 

T¼PÒ 1,75,000 

£o ÷©»õÍº \®£Í® 30,000 

öuõÈØ\õø» FÈ¯ºPÒ \®£Í® 60,000 

ªß ö\»ÄPÒ 9,500 

ö£õx ö\»ÄPÒ 32,500 

BskUPõÚ ÂØ£øÚ 8,60,000 

‰» ö£õ¸Ò C¸¨¦ 50,000 

•iÄÓõ ÷Áø» (i\®£º 31) 10,000 

21. Two components A and B are used as follows : 

 Normal usage 50 units per week each 

 Minimum usage 25 units per week each 

 Maximum usage 75 units per week each 

 Reorder Quantity : A – 300 units ; B – 500 units 

 Reorder period : A – 4 to 6 weeks ; B – 2 to 4 weeks 

 Calculate for each component 

 (a) Re-order level 

 (b) Minimum level 

 (c) Maximum level 
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 C¸ TÖPÒ A ©ØÖ® B ¤ßÁ¸©õÖ £¯ß£kzu¨£kQßÓÚ : 

 \õuõμn £¯ß£õk J¸ ÁõμzvØS 50 A»SPÒ 

 SøÓ¢u£m\ £¯ß£õk J¸ ÁõμzvØS 25 A»SPÒ 

 AvP£m\® £¯ß£õk J¸ ÁõμzvØS 75 A»SPÒ 

 ©Ö Bøn AÍÄ : A – 300 A»SPÒ ; B – 500 A»SPÒ 

 ©Ö Bøn Põ»® : A – 4 •uÀ 6 Áõμ[PÒ ; B – 2 •uÀ 4 Áõμ[PÒ 

 JÆöÁõ¸ TÖPøÍ²® PnUQk[PÒ : 

 (A) ©Ö Bøn AÍÄ 

 (B) SøÓ¢u£m\ AÍÄ 

 (C) AvP£m\ AÍÄ 

22. Describe the various methods of labour remuneration 

 öuõÈ»õÍº Fv¯zvß £À÷ÁÖ •øÓPøÍ ÂÁ›UPÄ®. 

23. Compute the overheads allocable to production departments X 

and Y from the following : 

 There are two service departments S1 and S2. S1 renders service 

to X and Y in the ratio of 5:3 and S2 renders service to X and Y in 

the ratio of 3:1. Overheads as per primary overhead distribution 

are : 

 X : Rs.58,000  Y : Rs.39,400 

 S1 : Rs.32,800  S2 : Rs.12,400 

 ¤ßÁ¸ÁÚÁØÔ¼¸¢x EØ£zv xøÓPÒ X ©ØÖ® Y US 

JxUP¨£k® ÷©Øö\»ÄPøÍ PnUQkP : 

 Cμsk ÷\øÁ xøÓPÒ S1 ©ØÖ® S2 EÒÍÚ. S1 5:3 GßÓ ÂQuzvÀ 

X ©ØÖ® Y US ÷\øÁ ÁÇ[P¨£kQÓx ©ØÖ® S2 3:1  GßÓ 

ÂQuzvÀ X ©ØÖ® YUS ÷\øÁ ÁÇ[P¨£kQÓx. ÷©Øö\»ÄPÒ, 

•ußø© ÷©Øö\»ÄPÒ Â{÷¯õPzvß £i  

 X : ¹.58,000  Y : ¹.39,400 

 S1 : ¹.32,800  S2 : ¹.12,400 
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24. A product passes through three distinct processes to completion. 

These processes are numbered respectively I, II and III. During 

the week ended 15th January 2017, 500 units are produced. The 

following information is obtained : 

 Process I Process II Process III 

 Rs. Rs. Rs. 

Direct Materials 3,500 1,600 1,500 

Direct labour 2,500 2,000 2,500 

 The overhead expenses for the period were Rs.1,400 apportioned 

to the processes on the basis of wages. 

 No Work-in-progress or process stocks existed at the beginning 

or at the end of the week. Prepare Process Accounts. 

 J¸ u¯õ›¨¦ •iUP ‰ßÖ uÛzxÁ©õÚ ö\¯À•øÓPÒ ÁÈ¯õP 

ö\ÀQÓx. C¢u ö\¯À•øÓPÒ •øÓ÷¯ I, II ©ØÖ® III 

BQ¯ÁØøÓU SÔUQßÓÚ 2017 áÚÁ› 15 B® ÷uv²hß 

•iÁøh¢u ÁõμzvÀ, 500 A»SPÒ EØ£zv ö\´¯¨£kQßÓÚ 

¤ßÁ¸® uPÁÀ ö£Ó¨£mkÒÍx 

 ö\¯À•øÓ I ö\¯À•øÓ II ö\¯À•øÓ III 

 ¹. ¹. ¹. 

÷|μi ö£õ¸mPÒ 3,500 1,600 1,500 

÷|μi öuõÈ»õÍº 2,500 2,000 2,500 

 Põ»zvØPõÚ ÷©À ö\»ÄPÒ ¹.1,400 Fv¯[PÒ Ai¨£øh°À 

ö\¯À•øÓPÐUS £Qº¢uÎUP¨£kQÓx. 

 Áõμzvß öuõhUP® AÀ»x CÖv°À •iÄμõ £o AÀ»x 

ö\¯À•øÓ C¸¨¦ GxÄ® CÀø» ö\¯À•øÓ PnUøPz 

u¯õ›UPÄ®. 

  

  

–————— 


